41505-17 T BfEIRR SEA THERFEXE

7= miiEA

M
4N,

I
RAOBARBER. SOEKLITELE (HRC 38).

BR:
THERRESERZREHETHE,
A/C BRI AT REERR,

B A FRERERZERNEERIR,

MA :
FTHERSHEARESHHHERNNVE,
EAREAALIRLT T REIRSITIEERRNBAERER L,

=N
AIC B  RESHH T HERSNSHARBR/D |, XEWRE th ] LUE
6] 5 6 B E 3 R

© norelem www.norelem.com



41505-17 T BE18R EHFRERE

@ p 0006 © g 0,006 @ g 0006
0,017 -0017 -0,017
5| S Q{éﬂg/ " B T ﬂ{éﬂg/ 3| 3 ﬂéfg/
. T 1 T oL . L P i ; w7
Sy 5 = /A NN R Mg/m;[,%
' = ) : | < ' ' =
A1) = ]~ gz A | )
| | 4 D o_| | /4 D /i
o B - B 5 Bl o P Bi1 A

L1
L

®
O

Bt ’ ‘
a |
T D 15 0y
T
= ¥ ‘
vd L <5
/ | / =
O I e
D /o
< B1 -
!
i i
7 1\
i |
1
B2
41505-17-05010241 50 A EF T 24 - | 19 22 26 9,95 M10
41505-17-05010361 50 C TE R0 36/18] 19 22 26 9,95 M10
41505-17-05012241 50 A ATHEEFTMHNREERER 24| - | 19 22 26 9,95 M12
41505-17-05012262 50 B BTN ER R E B 26| - | 185 | 18 26 9,5 M12
41505-17-07214281 72 A EF T 28] - | 30 33 40 14,95 M14x1,5
41505-17-07214533 72 C E TR 5328] 30 33 40 14,95 M14x1,5
41505-17-07216281 72 A ATHEEFMHNREXER 28] - | 30 33 40 14,95 M16
41505-17-07216302 72 B ATRERERER 30 - 1295 | 285 | 395 | 14,5 M16
41505-17-10014344 100 D - 34| - | 45 33 56 14,95 M14x1,5
41505-17-10014595 100 E TE TR 59 (30| 45 33 56 14,95 M14x1,5
41505-17-10016342 100 A AT RERERER 34| - | 445 | 285 | 5555 | 14,5 M16

© norelem www.norelem.com




41505-17 T BfEIRR SEA THERFEXE

© norelem www.norelem.com



